54T | y-LAW £ty s-il

N

@ & | SRC-208-30C,—30W

M12x 82

HEES | KREHOO08S /% 1

SRC—-208-30C SRC—-208—30W
| 3000 3000
- EL ® wxues Oemgea | = =
pa BN S
[ = = = = = = i ﬁ$%——" Eﬁ——m
3 I | |
M~ _— T M~ M~
3 -_——| = = = = = = E— o AE% +++ § < o § 5|
3 ! | | -~ 2
<t g |
oL !\ oL 6L |||
(D xh(864.5) \@ ¢-L(846.7) o J S
BHEE 960.5%13.2 IS 042.7x12.3 <
] 0300
Mt EEEEE (1/4)
3000 3000 | 3000
|
82 2840 2840 156 2840
D) B« v T
== =
| |
| T — ——— =7 — 1= 1 =1
Ho -5 P o @ Jor
: L — — - — L _ : : 15 R ) A —
[
: | I | @ ©¢-L(846.7)
] S GHEE 042 7x12.3
| | M) = (E64.5) | |
L/O THAE 060.5%15.2 L Cj'
_ e WD RRRUY - LONBEEER TS,
® & b | BigEE (21m, 18571 HBETER<EET R EABY LT,
M12X82 @ﬁ‘ﬁm}b}‘ @,\?1§$E;‘C;b}~ %ﬁ% glg I:% % M E Tﬁ g &E
X
M12x70 L 1 % STKA00i8S 4 PE sravme s (HERE | 8
%ﬁ‘ﬁﬁ e 2| ¢4 STK400#8% +PE BiAARY- & - HERE |14
— — —— — 3| PE%LE SGHA00M EHEGMD- 2+ iR%E |12
R v \ Ll 4] mEELE SGH40018 SHBGHD- * + fRR%E | 4
51 @mmEsL b HEXH 46185 BAHBN- X 1BE M12x 70| 28
o 6| mExL HEFH 46185 AHBNG- X 1BE M12x 82|16
AR b 7 |EmEEx ey T PE EBBE 8




